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1IE2 Z=(m) g Z=(m)

1 KERESE 2,057 51 = 897

2 NER L 2,014 52 SRy¥av 1,134
3 FE - BEFE L 1,874 53 =Pk 568

4 KBS A 1,781 54 =gt 3,776
5 E T 1,620 55 =i 1,785
6 7R BB L 1,358 56 ERLL 1,358
7 TR BB £ 1,477 57 =N 1,793
8 EF L 1,306 58 FR300 4 = 1,641
9 At A 1,631 59 AL 1,415
10 = 1Ine 976 60 B 1,158
11 =EE L 1,531 61 R 1,221
12 MR 1,312 62 AR 1,736
13 = 1,138 63 +=45 & 1,683
14 E)EA 1,003 64 T& 1,623
15 =R 634 65 =FH51 1,422
16 Sy 733 66 % 4 & 1,279
17 A& 990 67 AL 1,355
18 HELL 970 68 By 1,485
19 —HR®mL 972 69 EL 1,964
20 i 1,283 70 RE & 1,336
21 SE W 1,470 71 =% 1,173
22 ENEAR L 1,682 72 BER L 1,031
23 BELL 1,413 73 TR 2,899
24 MF 1L 1,598 74 MEIR 2,715
25 AELL 1,588 75 fm 2,524
26 B/ KBl 1,208 76 fERE L 1,818
27 WE & 2,037 77 NIInT 2,418
28 HE 1,660 78 T Ly 2,230
29 R 2,685 79 Sl 2,599
30 FER » & 2,967 80 E &l 4 & 2,592
31 7Y g 2,799 81 FEREs & 2,475
32 st 7 & 3,033 82 Bl 2,115
33 INAKEBLL 2,725 83 AR 2,318
34 & 3,193 84 SR %8 2,289
35 M/ & 3,190 85 SR 1,953
36 BEE 3,051 86 e (RIAL) 2,077
37 il (BAINE) 2,733 87 EEL 2,017
38 R & 2,629 88 Bmil (B)Ih) 1,716
39 BE= L 2,840 89 241l 2,232
40 HHL 1,731 90 FiEl 2,031
41 FE2 L 2,139 91 IR L 1,713
42 EpAtE 2,052 92 E X 1,704
43 JRECLL 1,827 93 iR 1,642
44 =L R 1,640 94 2E+ 1,635
45 =gl 1,153 95 AL 1,295
46 @l 1,989 96 HiEFIL 1,058
47 AN R 1,918 97 AR 1,422
48 1IE/N 2,014 98 ZE| 780

49 +Ml 1,726 99 SR 913

50 BeF L 1,394 100 REARF L 716
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12 Z=(m) 1IE4 Z=(m)
1 FmL 1,377 51 EEHR L 702
2 1L 1,132 52 REE L 312
3 T4 BT E 693 53 GERNIN 586
4 BrE 421 54 el 642
5 FEE 1,317 55 il 517
6 EFERT & 1,210 56 ML 1,125
7 7 S 1,161 57 AFE L 959
8 REIR 1,140 58 HE L 897
9 = 1,247 59 MRBH L 858
10 Zll 1,094 60 BEE 1,038
11 BP IR & 914 61 gl 953
12 FRIRIL 824 62 ES= N 1,009
13 =+ = 842 63 B - s 894 /920
14 BES&E 931 64 B & 958
15 RET& 1,214 65 AR 985
16 AT I 902 66 =P 852
17 EXR 1,174 67 = 467
18 AL 600 68 BEFF I 813
19 =il 432 69 BT & 1,029
20 LEAL 848 70 Sy 1,248
21 BFL 972 71 =& 1,235
22 EZEL 911 72 FEeE L 1,022
23 BB & 896 73 REE 1,309
24 25 924 74 MARE L 1,396
25 KRRl 679 75 BR 18 & 1,432
26 BESM R 660 76 BRI - IRIREIE 1420 / 1402
27 FIE L 784 77 KETIR 1,695
28 R 793 78 =gl 858
29 HE&E 722 79 W B & 1,719
30 RET& 917 80 FEAT o & 1,726
31 N\ I8 800 81 REE 1,780
32 S 693 82 TERE 1,546
33 SRl 664 83 TR & 1,915
34 ATl 833 84 FR0 o & 1,800
35 HRET & 640 85 S 1,352
36 BT E L 540 86 FE L 1,076
37 oK/ 1,510 87 AREE 825
38 = 1,310 88 #EFT L 756
39 SRR L 1,221 89 &L 1,009
40 AR L 1,074 90 ERTIE 870
41 BERE WL 839 91 REE 811
42 HZEWL 1,047 92 EEEE L 1,372
43 g 1,103 93 BEFE 1,344
44 TR AL 939 94 AL 1,122
45 Tl 1,005 95 EEm L 1,120
46 tHEl 683 96 F1E5E 894
47 E=Atl 915 97 B/ #R L 376
48 S EAL L 300 98 Jcw il 1,262
49 AESTIIL 608 99 F /8 907
50 G 931 100 BEF L 910
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12 Z=(m) 1IE4 Z=(m)

1 Al 598 51 BIET& 1,692
2 =il 712 52 HROE 1,281
3 =gl 901 53 el 1,473
4 Eprlil 829 54 FE1= 1L 1,315
5 EpUTE 859 55 Rl - Bl 1396 / 1377
6 g 1,199 56 EERIL 1,646
7 A 1,131 57 iz~ 1,562
8 RKERIL 782 58 =il 1,438
9 FRo00 & 1,230 59 B S 1,639
10 AFEBL 847 60 I EIEF 1L 1,302
11 Bkl 1,055 61 mE L 1,721
12 %1l 967 62 | REBALER - KEBHLE 397 / 281
13 FHEIL - Fil 982 / 955 63 BETE 469
14 Kl 1,046 64 B 1,386
15 22 516 65 RES 1,570
16 L 609 66 el 1,567
17 a8 826 67 RAALL 1,644
18 Z R 996 68 e 1,277
19 R & 1,076 69 LEALL 760
20 TBE 1,359 70 —vE 1,257
21 NTFEBE 1,062 71 FRu 1,644
22 J\ER & 590 72 =E=JINRN il 1620 / 1685
23 tVE 431 73 B 1,662
24 VUEA=ES 518 74 TR 830
25 FlifilE 317 75 AR 728
26 AEL (3B&E) 542 76 =HE 1,479
27 B 758 77 HO BT 1,089
28 BRE 1,375 78 =L 1,547
29 AR & 1,583 79 =5 1,405
30 AEL 1,140 80 FR300 4 £ 831
31 BE L 1,500 81 WAL 509
32 =121l 1,744 82 rAsE 669
33 AfELL 1,787 83 =T 1,574
34 Al 1,786 84 RREE 1,700
35 2&E 1,587 85 S 1,132
36 TTHELL 582 86 TR 1,102
37 B - MEE 1046 / 1061 87 ABERE 1,236
38 fAEHL 1,756 88 b 1,182
39 KEFSH 1,451 89 B5EE 967
40 mARL - EFE 1633 /1709 90 TR & 930
41 e=n 1,605 91 HE WL 1,067
42 B 1,592 92 A 516
43 RF & 1,408 93 BF R & 591
44 B 1,118 94 R 53k 363
45 =il 1,095 95 = 924
46 AT & 1,052 96 BTE 1,235
47 ANRIE 501 97 REE 1,497
48 N 1,542 98 Ty FalE 940
49 KE 1,494 99 Bk 1,831
50 ER& 1,739 100 =R - KB 1936 / 1886




